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Open Solving Championship Tver Region 2020 (Russia, Tver 19.09.2020-20.09.2020)

Problems Difficulty (12 Solvers)

ID|Tag|Difficulty [Average|5(Correct Solution)|0 < Pts. < 5|0 (Wrong Solution)|- (No Solution)
9 + 966 0.17 0 1 11 0
12|H#5 834] 0.83 2 0 2 8
18| S#6 8241 0.88 1 2 5 4
6| #3 758 1.21 2 1 8 1
15| #6 716 1.42 1 4 6 1
#3 642 1.79 3 2 7 0
+ 634| 1.83 3 5 4 0
14] #5 600| 2.00 4 1 6 1
11|H#3 584 2.08 1 8 1 2
17| S#3 4241 2.88 3 5 4 0
81 = 416 2.92 6 3 3 0
16| S#2 416 2.92 7 0 5 0
3| #2 416 2.92 7 0 5 0
2| #2 334| 3.33 8 0 4 0
4| #3 224 3.88 4 7 1 0
13| #4 200] 4.00 6 6 0 0
10|H#2 1241 4.38 10 1 1 0
1| #2 841 4.58 11 0 1 0
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